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PART - III
Coudufwed/ CHEMISTRY

(5B wHmb < mde el / Tamil & English Version )

&M ema] : 3.00 wenfl Crywb ] [ Qurgs whHibuemger : 70
Time Allowed : 3.00-Hours ] [Maximum Marks : 70

SiDlejenrast : (1) eneansdg) elenmas@sb Fflwursl udeurdl o_erengm ecranugener sfluTisg)s
Qamererayb. HF&HLILFeND Geanpuldmider, Henné samsTeaniliiurerlib
2 L emqwingsd Ggfelsseab.

2 B oogy ssmuy owvloar wLHEGCL  TEHMUSDHEWD

3 &CamgHeaughGlh Lwau®ss CauarGb. ULRSE umreusn s
Quendléy LweTUHSSe|Lb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@MUY : Ggeauwrer GLEHd ULD auenrbgl, SOEUTHHEMET 6T(pseyLb.

Note : Draw diagrams and write equations wherever necessary.
U@l - 1/ PART - 1
GOllY : () Semesgl NamssEns@n e wallésab. 15x1=15

(i) @er@s&suulérer mrem@ wrom el gsofler WBseyw gHyamLw
dMeoLows CsipbdsBss GHULGLar oL Waayb GCsisg
T(LPS@LD.
Note : (i)  Answer all the questions.

(i)  Choose the most appropriate answer from the given four alternatives and write
the option code and corresponding answer,
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1. sapm : GuonGen Heflafls spssid crarug GorGardeflallé Ugs UEHE
) ;o__g,wﬁamm.
SNFETUTLD © CurGamdeflafls Lys HeowllbnE a # b # c CgIb a=vy=90°
B = 90°.

(=) Sapmy M Y eTed HMyevwId Soum.

(<=}) SadmI WOHMD sSMrewd @rar@n &M, Cuoaib STremTwreTg sanHnlheTe
sflwrenr ellend&swrELLD.

() s=pmi LHMID SMTEwID QraTHL Seu.

(FF) &npml LHMID SITERIL Qrar@id Ff BATTEO STTERILONDTS FaDBDHSTEET
gtlures eSleT&EsL06060.

Assertion : Monoclinic sulphur is an example of monoclinic crystal system.

Reason : For a monoclinic system, a # b # c and a=vy=90°, B # 90°.

(a) Assertion is true but Reason is false.

(b) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

(c) Both Assertion and Reason are false.

(d) Both Assertion and Reason are true, but Reason is not the correct explanation of

Assertion,

2. K;[AC,0,),] eraimm ienamreyd Camngdlen IUPAC Guwi
(<) Qurlirflun Clev &FCal_GLrm guilGer (III)
(<) QurlLrflubd Leny 855Gl GLr giudleflwib (IIT)
(@) QumiLrflwb Leny 2&5Cal GLr aubiGean (II)
(/F) Qumirrflun Levy &sGal G oaylGer (II)
IUPAC name of the complex K5[AL(C,0,)s] is :

(a) Potassium trisoxalato aluminate (III)
(b) Potassium trioxalato aluminium (III)

(c) Potassium trioxalato aluminate (III)

(d) Potassium trioxalato aluminate (II)
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QemeumeuaieupmIeT cuadleniowimen ojbled erg) ?

(<) HBr (e,) HI (@) HCl
Which of the following is the strongest acid among all ?

(a) HBr (b) HI (c) HCl

YeneumeuameuhmaT sp? @endseliy Gaorssl gl ?
(<=4) yoaiten (<=p) Symesemu
(@) eof uallsaly (/) EymoeSen
Which of the following is not sp? hybridised ?

(a) Fullerene (b) Graphite

() Dryice (d) Graphene

RNA -effléb sranriini(Rb Gflblig 6 STrmkiger :
(=1) sl CLrélan whHmIb enguwiLsle

(<=4,) ensl_GLrélen Hmib iiq.enenest

(@) ensl CLrflesr wHmid wrréled

(FF) ensl CLrfley WOHmID @eUTenaIe

The pyrimidine bases present in RNA are :

(a) Cytosine and Thiamine

(b) Cytosine and Adenine

(c) Cytosine and Uracil

(d) Cytosine and Guanine

www.Trb Tnpsc.com
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(/r) HF

(d)

[ HwLiys / Turn over

kindly send me your key Answers to our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

7422

6.

www.Padasalai.Net www.Trb Tnpsc.com

<pevldflen eremug) :

(=) @CarmCrr Quensmuids jeud
(<) SISl gmellflells fleuid
(@) wpsrafads b

() Quengmuiler amelfels sifleid
Aspirin is :

(@) chlorobenzoic acid

(b) acetyl salicylic acid

(c) anthranilic acid

(d) benzoyl salicylic acid

Sl ear_ggHled Qumrl_Lrflwb QuiwrisCern RG] AFETONE SVFDS
285 EAQCaHDD SewLwé Qsidmg.

(=) ARG (=) 268G

(@) <8ligé Sifleld (F) smruem el &
In acid medium, potassium permanganate oxidizes oxalic acid to :

(a) acetate - (b) oxalate

(c) acetic acid (d) carbon dioxide

Siafledamrang) 2145 sifle Bl e eflenamiiLil () QarHé&E0 eSlener@uir(mer :
(=) p-oIIGearr 8L CLmSCermen

(<=4) o-UICem A CLmSCeomen

(@) Sl Lalama®

(FF) m-Carm HLCLmICermen

When aniline reacts with acetic anhydride, the pfoduct formed is :
(a) p-aminoacetophenone

(b) o-aminoacetophenone

(c) acetanilide

(d) m-aminoacetophenone

1 >
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Spss@mcupmier ety Srrh uGlueLwirg ?

(=) Gamgwid @Geatreny(®H (1) Gomquitb urFGoL

(@) <=iwCuwraflwd uriGuol () iwCGoreflwb enpl Gy
Among the following which will not be hydrolysed ?

(@) Sodium Chloride (b) Sodium Formate

() Ammonium Formate (d) Ammonium Nitrate

Qemeu(md WBETSQRISATID eTeneu (pSemanid LlETSQRISETTEGD ?

() QesorEgrGs Weasmb (i) Hasd-sriblub Wenseid

(i) Qe Gsbluys seb (iv) Qurgfl Wersaid
() (i) eOpd (V) (<2) (i) LHYID (V)

() (i) pmid (i) (/) (i) opoid (i)
Among the following cells primary cells are :

(i) Leclanche cell (ii) Nickel-Cadmium cell
(i) Lead Storage Battery (iv) Mercury cell

(a) (i) and (iv) (b) (i) and (iv)

(c) (i) and (ii) (d) (i) and (i)

AL CLrallmba swGearranant flear 2 eargw Slemer 1966 meuereummier
TEHM(E STEMTE 2 CTeng| ?

(21) erevsLymen seur Carliy edlenar

(=) smasaui UL (B eSlener

(@) smseur CariL eSlener

() eresLlymen seuf LSl B elenar

The formation of cyanohydrin from acetone is an example of :
(a) electrophilic addition

(b) nucleophilic substitution

(c) nucleophilic addition,,

(d) electrophilic substitution

[ 'Q@an& / Turn over
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@ elomanuiear efleaGes wrHalufer wdiiy 58x10-2 s~ erafldr ojeueiienanslen

aNenaeuens :

(<) @rawLmbd cuens (<) PHD euens

(8) eperpmd cuens () uBBwu eums

The rate constant of a reaction is 5.8 X 1072 s~1. The order of the reaction is :
(a) Second order (b)  First order

(c)  Third order (d) Zero order

Blememmhu@sse wpenmuded STULTS SNUMDWTSE6euS 6 @mm@mmmﬁ)gﬁ eTg)
Cpmblareumurs QewduGHng ?

(=) sriiueT s&T@H (=1) gnw sraur

(@) Qerm yamd Wleémaumis () sniewwuHy STOUT

In the electrolytic refining of copper, which one of the following is used as anode ?

(a) Carbon rod (b) Pure copper

(c) Platinum electrode (d) Impure copper

By ellemarGauswmpluier Qeumdpamer sidsfs@n Gerob :

(<1) CH3;COOH (<=4) H,yS (8) ALO, (/) As,O4
Activity of iron catalyst is increased by the ___ compound.
(@) CHZ;COOH (b) H,S () AlLO, (d)  As,O4

pllomary gosanrosefar sAnCabnsams < or®mean( 2_(Heum @b
HlanaulCaGw Hlenpey Gewiw LweTu@ED 2 EERCeamdwirens, :

(1) NaCr,0; (<) KMnO, (8) K,Cr0, (FF) PCC
The oxidising agent used to stop the oxidation of primary alcohol at the aldehyde stage is :
(@) Na)Cr,0; (b) KMnO, () KCr,0, (d) PCC
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u@g) - 11/ PART - 11
GoLy : aGsed M) NeTEsEHEE eNenLweN&Egeyb. eNeT eranT 24 -8 SHL_L_MULONES
eflenLwiefl&sab. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.
16. srpMcrens @GWpailed uUMISSD CTeTMTE GTemTen ?

What is Calcination ?

17. Gurilé sllesams ereueurm Cumrren enplenr(h <& WOIFHDIGITL ?

How will you convert boric acid to boron nitride ?

18. &hgs sdlab @ BIEsEL srrafl. om ar@ssssTHLen Blneys.
Sulphuric acid is a dehydrating agent. Justify with an example.

19. Qurg <weal ellenerencl g THSSHEET_HL6 6SlersEs.

Explain common ion effect with an example.

20.- Fe*t guaflsar S Aenamwasaie 4CrreweaL LUGrmlams <&fnCGamib

L w& Qeuywor ?

Qar@ssuulLg) : E;e3+|Fe2+= 0.771V
EBr2|Br' =109V

Can Fe3* oxidise bromide to bromine under Standard Conditions ?

Given : E;ef’ o2+ = 0771V

EBrler' =109V

21. Gamed.sll ellenanenil 6r(Lpsis.
Write Kolbe's reaction.
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22, Epssamicupdler el T(LHEIS.
o= D-Gen&GaranurGanmey wHmib
B—D-@emaGarenurGanmen
Write the structure of the following :

a— D-glucopyranose and

B — D-glucopyranose

23. @t 2 Wf&eT erermmTed GTEMET ?

What are antibiotics ?

24. efleneeuens eraimTEd Grevia ?

What is an order of a reaction ?

u@$ - 11/ PART - 11T
GPILY : aCsmib Spmi lamésende el iLeflésayib. eflam ereir 33 -8& SL_L_muLons
ellenLwiefl&saib. i L

Note : Answer any six questions. Question No. 33 is compulsory.

25.  afellwgdlen LwasmaTs Hms.

Give the uses of helium.

26. Fet sy F?t arg wifls Hleveliug senenio 2 L Wig ? eren ?
Which is more stable Fe3* or Fe2+ ? Why ?

27. siguilafluwrerg sasgy QnmrdL Qurdlbs eniol e L ESLIEDS. g6
2 Gars b 125 pm. @ sal lzen efaflibyy Beorgenss samsd s,

Aluminium crystallizes in a cubic close packed structure. Its metallic radi

ad1us is 125 pm,
Calculate the edge length of unit cell. .
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ifadaflust swerLimn g emer arpd @Pd QLbQupmdreTauperp edlardEs.

Write Arrhenius equation and explain the terms involved.

GudLUPLUTLY saiTged whmb CuALyDLLTTY saisd e duaphd B
Geuiuflene LOHDIL ByPsssHar ollanarallenan edlemdEs.

Explain the effect of temperature and pressure on physisorption and chemisorption.

. Cprleupse afeneeniw eflené g .

Explain Knoevenagal reaction.

pilememru e, sriuer el soeu@Lar Lfiyh eloame eTr(pss.

Write the reaction of primary amine with Carbon disulphide (CS,).

QuUien () Lg]Gb’)GO'OTl_II_| LidHdl @@@@uq' UGS

Write a short note on peptide bond.

[Co(CN), CL]Cl eTetim enewrolled ﬂshajqpmsmmrj)emmés'a;sﬁm_@a;.
() IUPAC Quuwrr

(i) enww 2 Cars jwe

(iii) <SiemenTE ] 6TENT

In the complex, [Co(CN), CL]Cl, identify the following.

@ IUPAC name

.(ii) Central métal ilon

~ (i) Co-ordination number

A
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u@d - IV/PART - IV

G@OIUY : Simensg NamssErsEn eleLwelsseb. 5x5=25

Note : Answer all the questions.

34. (S1) () saflwbd, st YHuaupdodeaL Cuwrer Gaupur@sdr wreel ?
i) smiur AA$QsHESH QFwdpenpuicr Halsameilen L@ ereme ?
3|6V6VG)
(=) () Cumrils slasar LwesmeT 6T(WSIS.
(i) HN&CH_(Haer eremmmed eremen ?
(@ (@) What are the differences between minerals and ores ?
() What is the role of silica in the extraction of cop.per ?
OR

(b) (i) Give the uses of Boric acid.

(i) What are silicates ?

35. (1) @Mbgami® GOIGSD T 6Teem ? HFET eleneTaseT WTeneu ?
36060
(=) () @rie 2 liyse wHmib Siemameys Garwrigear LHM AnieHuy rpsgis.
(i) mSgeus glepuied LWL @f mearays Caiob WHMD 2 ulMwd
Wé&Awggeud eumihs Sieanme s Camolb < 8lweupmids 2 FITERTLD &(Hs.
(a) What is Lanthanoid Contraction and what are the consequences of Lanthanoid
Contraction ?

OR

\

(b) (i) Write a short notes on double salts and co-ordination compounds.

(ii) Give an example of Coordination Compound used in medicine and a biologically
important Coordination Compound.
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37.

38.

(1)

(<=1) (i)

()
(b)
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eraflw EXESF U4 sienwtiller Qurdeys Hoeven sanrsd(H5.

S|6V60)
A = eflenar@umgper e Ll euens ellevansaran @gmens L(hSe -
Ll Geus 694 ufenan aumHellé&Ea] L.
(i)  BrsH Hyer - UEPTIWIMIESELD.
Calculate the percentage efficiency of packing in case of simple cubic crystal.

OR

(1) Derive the integrated rate law for a Zero order reaction, A — product.
(i) Define buffer Index.

(=) () sreurals Verga GO erperws updl edleTéEs.

i) Gard® eram - cueyumssayb.

SIS

(<) @reren Gergemen uDB ESHLCLES.

()

(b)

()  Explain about Galvanic cell notation.
(i) Define gold number.

OR
Write notes on Lucas Test.

(=) @) Hfsami@ Aoassrrafl@ambs <Hgd oo ereueummy

swurflssLuuBh g ?
(i) &G LOUIGSET erampmed ereiian ? r(HSHEHT_(H HMHs.
960605

(=) GHO eramp eumibur(® Garer sflné Gerwobd (A) <yearg Zn-Hg/ <L HCl

(a)

(b)

2 L eflenanyflpg) Ceiow (B) ~evwid smEpgl. Camw (B) peng HNO, 2 Len
eflevaryfipg Gemow (C) (pgemen eflanar@ummer) wpmd Garob (D) W
BmEmgl. Guoaib Garow (C) eng < HCl 2 Lar elenaryfibg Gamob (E)
(eemwowed allaflst) wHmb manl réfloflmas smépng. A, B, C, D wHmb E
g Slweupenps sarLdlbg 5@GHS Nmasmars &ms.

(i) How acetic acid is prepared from Grignard reagent ?

(i) What are bio-degradable polymers ? Give an example,

OR

An organic Compound (A) of molecular formula C,H,O reacts with Zn-Hg/Conc. HCl
to give Compound (B) which reacts with HNO, forming Compound (C) (as major product)
and Cor.npound (D). Compound (C) reacts with conc. HCl to give Compound (E)
(Table vinegar) and hydroxylamine. Identify A, B, C, D and E with suitable reactions.
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